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2A: HD
Ho: =05t S| HEA HE
s el 2 A2 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
3| H 71,257,178 59,158,452 12,098,726
SHe JHEN = 3,156,401 4,595,023 A1,438,622
Zol 2 A ekt 117,229 155,535 A38,306
N&E24 55,267 91,567 A36,300
201 L2 | 24,242 27,386 A3,144
01 At 22|l 22,586 22,430 156
Oget=ZH| 20,750
—SHAMN L RENT I U
65,000 x2E+ 155 1,950
SHEMMN L BPEMNE BX A
65,0003 *2E*120%2 15,600
~ZAEAN BEQ AN XL M
15,0002 x80% 1,200
—ZAMEAME 2EEF S A2 2
20,0003 x5 +20 2,000
O=4| 1,836
—DZ2ASAH HALEHL E20HAHI
9,000 x3Z 202 13 *90% 486
“AMAEE S NBUS EF S20PA
9,000 x5H*303|*1& 1,350
02 324l 1,656 4,956 A3,300
OAEEHIR XY 1,656
—NZANE HEEEZHAIAE SXE>
138,000 = 12042 1,656
202 04d| 2,400 2,400
01 =WOdbI 2,400 2,400
O3AHGR =& 2t2|04d|
200, 0003 x2H +63| *50% 1,200
O=ARIIAS 27 B0
200, 0002 x2H 63| *50% 1,200
301 LPENF 27,875 27,750 125
14 JIEt2 43 27,875 27,750 125
OJIEtE A= 27,875
2RI S
200,000 x5F x5 25,000
—ZAFARIE =4I
9,000 x5 25 1,125
-ZAEARIA S &elodd]
20,0003 x5 *103] 1,000
—ZAIAIRIE W= &4 O]
150,000& x5 * 13| 750
307 QI2Hol A 750 750
12 QI2toI R Et I FH| 750 750
OZ B ARE LS|
150,000& x5 *13] 750
SHEH A2t 42,962 44,968 A2,006
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Ho: =05t S| HEA HE
=2l Zel & ekt (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 42,262 44,268 22,006
01 At2teltl 21,944 20,650 1,294
Oget+=ZHI 16,714
=HEEX A58
25,0008 x25+122 600
-LI2tEH, 2HIE 0I8++2
20,0003 x40~ 12& 9,600
=SS 380 =22 S
283,000 +83] 2,264
-MEXAL S SETEHIAIAE ctE £
4,250,000 * 14 4,250
Oo=zg=4 2,800
ARG AR 20 BN
70,0002 * 10 *42] 2,800
Oa4tl 2,430
-Asg e =N S20AI
9,000 x5 +53] * 122 x00% 2,430
2 S52g4l 20,318 23,618 23,300
OAlZ &I Xl 20,318
A R AAMA 28 2208 RAEs
Hl 585,000 * 12 7,020
Ot A SHLHAIAE 2RI 24|
363,000& * 128 4,3%
-=3 JdNH 38 £ 2ZE0 FAL
=t 4,586,000 * 14 4,586
“ASEESHAIAE R 24
363,000 * 12 4,3%
202 048l 400 400
NETEE 400 400
OAsr2et RN 22104
200,000 x2H*13] 400
301 2eEN= 300 300
14 JIEt2 8= 300 300
OFUEHESI =&
20,0003 #32|* 1021 x50% 300
SA2I12H 29 19,000 19,000
201 er23| 19,000 19,000
01 AtR2te|HI 19,000 19,000
Odgt==H| 19,000
20243 HHE HEHE BESSHI
19,000,000 * 12l 19,000
SHMe2e 1,307,185 1,291,425 16,760
SHMHE 2el 1,307,185 1,291,425 16,760
201 er23| 1,164,685 1,168,425 A3,740
01 At2tltl 62,737 66,477 A3,740
Odgt=3=H| 88,117
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M SIS SIHEN EHE
Rl SFMa2e EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
-SSMA 2e| A LHI=AF Y OH2FCHAS
EX g2 13,060
sa=y 242
344,000 «20Z X 6,880
sa=e 42
309,000 *20& K| 6,180
“BRA WLHAEX ZHEI} 442
500, 0002 x50 25,000
-SRMa 2 2HIE018 =2
140,000 45 6,300
SR LdXtE 1,203,500 #2JH 2~ 2,407
-SIRIE +=4+2(018,28 5)
3,000,000%14! 3,000
SZO(UBNTA HE AY OIHEY A2B
700,000 & *43] 2,800
SZR(LENTA HE FI| FHEY L2
200,0002 *18= 3,600
“DRTA TR| OHYE W B0 oY)
130,000& 1524 1,950
Osg+g 4,620
“ZRUAMOIIAE Blo] BAS
70,000 6 H 83 3,360
-SRMit2e DI 2EARAAS g9 &
=] 70,0003 6 H 33 1,260
02 E324Hl 1,101,948 1,101,948 0
o323 £ HMAl 1,101,948
“RRM BEE DM ¥ e
2,620& 300244 %53] 3,930
-HE N2 Mol=+ SH Y|
580,024,000 x 14! 580,024
-EXE s SHSb
483, 122,800& * 14 483,123
-Ng2=d oS+ SHEb
8,717,570& 4= 34,871
202 04d| 1,500 1,500
01 2LHOILI 1,500 1,500
OMat2te] HEF=E 04|
200, 0003 x3H #52] *50% 1,500
207 A OHLH| 66,000 70,000 24,000
01 ¢ EAH| 44,000 48,000 24,000
O3 AEHZA 2|
44,000,0003 14! 44,000
02 MADHE] 22,000 22,000 0
O3S M HIEX JIS2 Hat 2=H|
22,000,000& *14! 22,000
401 AIEHIZL 28I 75,000 51,500 23,500
01 Al&Hl 75,000 51,500 23,500




SA: 3D
mo: =05t S| HEA HE
Rl SFMa2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS7Mat S22 S SAI
75,000,000 *14] 75,000
At ¢ 1,731,987 3,148,063 1,416,076
SASAtE 2el 198,586 202,132 N\3,546
201 Zet=3h] 181,666 187,372 A5, 706
01 AtR2t2|HI 16,018 15,106 912
Oget=EH| 16,018
-NHSIH FIIEM =52
54,0002 »39CH 2,106
-2EXY DT SZ(6H0IIHA)
17,0002 %133 122 2,652
2SN MRHI(S2)
25,0003 x4+ 12+ 123 1,200
-2 MIHI(SE, 32)
30,0002 »34LH 12| «8& 8,160
-2ZXE MR (HA)
40,0002 1CH*12/« 102 400
Mg 2EIPE JIE MU &0t 1,500
U=l 50,0002 15H 750
-H2IEIL AEEE el
50,000& *15H 750
2 s5=34l 165,648 172,266 6,618
0332 € AMAl 19,800
~ XS XhAl 100,000 +39CH 3,900
-AEEE= 400,0003 *39CH 15,600
-NESI SEMNERES(CIR)
150,000 *2CH 300
OXter, &8l 145,848
SR (s8) 7Y
1,680& 2,400 £ *4CH 16,128
-IR(&8E.32 . 44) 7Y
1,510& 1,200 £ 35CH 63,420
-2EXE ==l 1,700,000 *39CH 66,300
202 048l 16,920 14,760 2,160
01 2L AL 16,920 14,760 2,160
SHAELF =& 2L 048]
10,0002+ 7 +203| 12 90% 15,120
OdctdE & Al HAIKIE 22/ 04H]
37,5002 x2& =23~ 123 1,800
At |2 1,433,401 2,145,931 AT712,530
101 @124H| 12,936 12,720 216
MU IIRIMZZENSES 12,936 12,720 216
OFAL &C NEEY 2 (M3
=g ZF) 86,2402 x5 *30 12,936
201 fet=3| 773,741 859,187 A\85,446
01 AtR2t2|HI 129,244 137,905 28,661
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Oget=Z| 128,544
-EA HAZE(MAS) 7Y
30,0003 *105+63] 1,800
-HAb SHEX(F2R02]) 7
9,000 *400E+*43] 14,400
—StEA 2AEE 20H 8,928
2HD MEH 7
362,000 =124 & 4,224
= MEH 2 392,000 = 120H& 4,704
“EAF BREHE 2 7Y
200,000& * 122 2,400
-MED| SEH 5§ 7Y 2,952
- 7528 1,4703*100& 12042 1,764
- 502I & 90 x100& = 1291 2 1,188
OIHE HA(ATOA ASIA 2541
5,000& *221m" *43] 4,420
-EA 293 HA
500,000 *4CH*23 4,000
“HANEY ASE 50&*17,000m* 63 5,100
A Batx EAa| 10,200
-2 15&%160,000 £ *23| 4,800
RS 15&%100,000 £ *23| 3,000
el 153 80,000 £ *23| 2,400
-EAb BIOIDI 2|
376,000& = 1200 & 4,512
-HAF 30| HoE
34,0002 *3CH* 122l 1,224
-HAF SHEA BIIFED| U=
27,4003 =27+ 123 8,878
A 2228 € HIJI=Z Xl ==&
15,0003 =102 %1201 2 1,800
-2 MI|otM 22| CHE =42 (1,438KW)
1,584,000& * 1291 & 19,008
-gas M)|otM e HEl 4=4=2 (135KW)
176,000& = 1204 & 2,112
-SHAHBMS) HIHEBAL =2
250,000& *23 ) S*13] 5,750
2| BY waz
150,000 *4IH A+ 1290 & 7,200
—£20| BIIAA 248
120,000 *4 ) 2 *13] 480
PR QA AR
100,000 *27H 2~ 200
SEEH TADIA OHEEAL 442
150,000 & *270 2~ 300
=5 DE0IBAE BN 248
300,000 *23| 600




SA: 3IHD
Hu: Sois SHEM 2
ol FAEE X4 (&9 A
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
= F Agal BESEE
1,000,000& *x12& 12,000
-23& AUZxTE SX2elb]
440,000& 1200 5,280
-EHAF UDIEE =2
3,000,000& =14 3,000
- Al BHAH| 22X ot 22| B2
2,000,000& *1A 2,000
Oo1l=| 700
-H A2l s NS S
50,0003 x7H*2E 700
2 BB 644,497 721,282 AT6,785
02223 2 WA 437,410
23 DERYRY3
5,000,000 & * 10 2~ 5,000
23 &2 30,000,000 x120H& 360,000
=3 ASAT 93
5,500,000&* 120 & 66,000
-s20| &Y SIEX M 2=
30,000 %43 <+ 1204 2 1,440
-ZtAH2Z )& eld] 360,000& = 1271 & 4,320
-st=2g e &3l 50,000& *13] 50
-JIALMHEA BE 2
500,000& 13| 500
& A ABE S| 100,000 *13] 100
HA=H| 87,087
HAF IMS LA
1,700 %8,500m x4 5JH & 65,025
~HA NS WA
750& *6,000m +4 500 & 20,250
-HIAEED| H2HI(AR)
1,510& *100L*2CH*63] 1,812
OAIEEH|RAIH] 120,000
—HAL AES(AF,JIH, B S)HESER
CEERE R
120,000, 000& =14 120,000
202 04b| 1,000 1,000
01 =ZLHM Y| 1,000 1,000
OFAI AlE=S2e| JEa8 =& 20|
200, 000! x2H *53| x50% 1,000
206 M=H| 15,724 18,024 N2,300
01 THZHI 15,724 18,024 A2,300
OFAF X 2= 7,164
-AEot 3,800& *30kgx 122! 1,368
&AM 4,400 *70kgx 122 3,69
-HAPHED| YRIQE et oflgtEH]|
35,0002 %60 £ 2,100




SA: 3D
mo: =05t S| HEA HE
ol FAEE X4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O#JIEH sxZel i 22 (A o 83)
120, 0002 95 +4 2| x50k 2,160
OFAN LEDES 7(LE0BES 2 63))
100,000 7 5+43] 2,800
OBYS &I ==HHAEt XHH 7L
1,500,000 *14] 1,500
OJIA, 224H RA22 I 2L
150, 0002 *7E5*4 2] x50k 2,100
401 AlEHIZ 201 580,000 1,190,000 610,000
01 AlZ2H| 580,000 1,190,000 A610,000
O=2, 2, 23S FMNES (AR &F
| 8) 200,000,000& *14] 200,000
OSHE=SRHEH AES HE+(2BHS)
200,000,000& *14] 200,000
O=% & s dd=NdH =% LS uMs
Al 5,000, 00021 #6JH £ 30,000
OR% 2 S HHSNME =5 FS&H| D
IS A 5,000,000 6K 2= 30,000
Ot SHISXIME S+-2LSA
120,000,000 * 14| 120,000
405 AHatE = 50,000 65,000 A15,000
01 MMM ESFSHI 50,000 65,000 /15,000
Oouaast Bt & oIAIZ &0l IHE &I bl
= 78 50,000
-2y 200,0002*50H 10,000
-2/ Xt 200,0002*50H 10,000
-OlSMEd 200,000 *60H 12,000
-AHlHs 300,000 *60H 18,000
SSHISAHE HE 100,000 250,000 150,000
401 Al HIZ S OHbI 100,000 250,000 150,000
01 AlZ2H| 100,000 250,000 150,000
OdSHIFAEEH HE SAH
100,000,000 * 14! 100,000
HY2HZHI(EH ) 68,100,777 54,563,429 13,537,348
J1=2Z (311 776,347 743,690 32,657
J1=ZHI(3H ) 776,347 743,690 32,657
201 er23| 41,347 41,210 137
01 AtR2t2|HI 41,347 41,210 137
Odgt==d| 30,266
-JIEAMRESHI 100,000 25 2,500
-2 EAES 0 150,000& %12 150
-LXNE=sE)| gz
385,000 x 12 4,620
-SAD| SX2(EH L E8 7Y &)
480,000 «2CH 52 4,800




2A:

21 A4

M HZYRAZHI(SAIL)
el J123HI(2H ) (CHe: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-HOIMEEE SX2ACH(EH 7 S)
237,000 +6CH+83] 11,376
=t
23,0002 =208t A% 123 5,520
“SAP| =4 500,000 ~2CH 1,000
—pIR0l HE WD) AL
25,0002~ 12 300
OEXI 11,081
~sHeEd Ha S20)AY
9,000 192 *63| 12 *90% 11,081
202 04| 41,040 41,040
01 =LHO LI 41,040 41,040
OALF =& 20
20,0003 x19Z %103 x 123 90% 41,040
203 HR=AH] 3,360 3,840 A480
MU A2 LRFAI 3,360 3,840 A480
O3 A1t 350,000 x 122 *80f% 3,360
204 MR AH| 690,600 657,600 33,000
01 MM SR 150,600 147,600 3,000
OAIE 650,000« 1H« 122 7,800
ORAIE 600,000& x1H~12& 7,200
O4z (B4 H) 400,0003x 1 *12& 4,800
O4= 350,000 82+ 122 33,600
O3 (L, 23IHZAR)
100,000 x44 122 52,800
O (%, 2HI~E)
150,000 x24% 1224 43,200
SEIEETETEY
50,0008 x2& * 122 1,200
2 S3g =3l 540,000 510,000 30,000
o=yl 50,0002 *000H 122 540,000
elgE3 67,324,430 53,819,739 13,504,691
el 24| 67,324,430 53,819,739 13,504,691
101 @124H| 67,324,430 53,819,739 13,504,691
01 &= 61,416,479 51,516,918 9,899,561
OJl=s(2, 25012, A, 8) 43,586,400
-HRH(ASH
117,232,000 x 1+ 13 +80% 93,786
32 (A=)
103,522, 0002 * 1 13 +80f% 82,818
-42(HSH)
105,184,000 13 1 +80% 1,093,914
53 (HSH)
90,430,000 «58F 1 +80f% 4,195,952
S=2(05 =) 5,390,900 «12& 122 x80% 621,032
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SN - BH . S(B) - HPAR - BAS ol by e HIRS2
62 (2652)
4,574, 10023302 * 122 *80f% 14,490,749
72(1452)
3,395, 8002 *312% * 122 x80% 10,171,101
82(752) 2,434, 5002 %280 * 122 x80% 6,754,277
92 (45 L) 2,020, 5002 %2422 * 122 *80% 4,694,026
~OI AN 195 2)
4,012, 1002 %122 * 122 x80% 462,194
-XNEAH21S8)
3,967,800 *3E * 122 %80%% 114,273
—oIBrel )| Hl (62 A )
78,086, 000 %22 * 115 %80k 124,933
—Brel | Hl(72 A )
54,570, 000! % 1324+ 111 x808% 567,528
—oIBHol )| HI (B2 AL E)
50,386, 00021 *224 11 %80%% 80,618
~oIBrel )| HI(92 A YY)
48,992, 000! * 124 %15 %80% 39,1%
OS] 3,886,213, 6002 x60%+23 4,663,457
Or=FERN=" 3,886,213, 6002 *45%+23 3,497,593
OX 242 1,066,800
250 A 130, 0002 *240% * 122 374,400
—20E 0| A 25110|
110, 000211208 * 122 158,400
~15E0[ A 20410] O
80,0002+ 1002 122! 96,000
~10E0[ A 1510] 2
60,0002 15024 * 12! 108,000
50/ A 100] 2
50,0002 x34021 12! 204,000
-5440] 0 30,0002 +3502 122 126,000
OXHZAlY| 140,0002*1,300% * 122 2,184,000
OXNZEZH| 2,881,080
S 650,000 * 12+ 1224 7,800
~SAIR 500,000 * 12+ 122 6,000
4= 400,0002 %132 * 122 62,400
= 250,000 +70% * 122! 210,000
=] 185, 0002 3302 * 122 732,600
72 180, 00021 x312% * 122 673,920
-82-92 175,00024x531* 122 1,115,100
—OI AL, KIS AL, 2 BHI D[
185,0002 *332 x 122 73,260
@p/=-RN= 711,600
= 20,0002 *45024 * 122! 108,000
~tHR Xt 40,00024*600% * 122 288,000
“HIE(RMIHA) 30,0002 x3002 12 108,000
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-HI=(SMAHA) 70,000 x200 ~ 122 168,000
-HIS (AR 014f)
110,000& *30& x 128 39,600
S EE=-LEE
150,000 410~ 12& 738,000
O=0tsadE 690,000
-AZLEE 1220E DK
1,500,000 x302 = 128 540,000
—AZEUSH GHENK(BE=XEER)
2,500,000&*10H x6& 150,000
OmelgRLg
5,390,900 12 * 12 *P% 69,867
OBHI23LH 50,0003 x25H x 12& 15,000
OomA== 18,000
-IHAH(SLEI |2
300,000& x3¥ » 12& 10,800
-IHASSHERD |2 A XIH)
300,000& x1H*12& 3,600
—IHA =S (K2R EHA)
100,000& 3 x 128 3,600
OS2 1,294,682
-2 =& 18,600
- 25 50,000& x5+ 12& 9,000
== 40,0003 x20H 12 9,600
D|=dEE 114,600
o= 50,000 *16Y~12& 9,600
6~72 30,0003 x180H * 122 64,800
892 20,0002 * 140 = 128 33,600
KA, Mok
50,0003 *11¥~12& 6,600
D|EsEELEIR= 72,000
< DAL 30,0003 x160H 122 57,600
- AFADI AL 20,0002 *x35H * 122 8,400
28 JH|(6~72)
10,000 x20H *x 128 2,400
2& AH|(893)
20,000& x5~ 12& 3,600
-0IRHRE 50,000& =130 = 128 78,000
Mot e | =S
80,000& *15¥»12& 14,400
s [=es R =y 50,000& *30Y » 12& 18,000
-HARAH R 80,000& x12& x12& 11,520
-Sej=g 78,120
HAXIAHA =2t
210,000 15 =128 37,800
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PR REDS
210,000 x 16 x 128 40,320
-SoRY 80,000& x290&H x 128 278,400
-AMEEXNLERSE
70,0003 *230H * 122 193,200
-ASIEXYR2LEIRS
30,000& x200&H *x 128 72,000
~AZHA e =S 18,842
72(1h5=2)
3,478, 000& 2 12 8% 6,678
-8=(85 ) 2,534, 000& *5H 12 8% 12,164
ARG 27,000
SMNFIA 200,0002x5H +3& 3,000
Z0t5& Xt 200,000& x 10 x 128 24,000
-HIAZ2RE 50,000& *500& 128 300,000
02 JIEt& 24 5,907,951 2,302,821 3,605,130
oJl=a 4,378,430
-HEAIM(LIZ)
60,092,000& * 1= x1 60,092
“AZHEERHILDIHMI(LIE)
65,073,000& x4 x1H 260,292
-AZPEE DI HI(CHS)
55,435,000&+8Hx1H 443,480
—AIREAER I DA (2HS)
52,061,000& x2H x1 104,122
“AZHEER R DIHI(0IE)
32,280,000& x67 H 1A 2,162,760
~HIAAHE (145 2) 651,804
304 0la(3158)
4,691,000 x1H*12& 56,292
- 15 OlAat 30¢ 0|eH27TE =)
4,253,000& 18 x 128 51,036
- 154 DleH(11Ee)
2,669,000& 178128 544 476
—UBHARLS
1,933,000 x60H x62 695,880
OYEFIHI 112,307, 000& *23| x60% 134,769
O824 651,804,000 x23| *45% 586,624
O&FZFEIR= 15,120
=254 0|4 130,000 2« 128 3,120
=20 0|4 25 0|8t
110,000& 1 x 128 1,320
-154 Ol4&t 20 0|2t
80,0003 x1H*12& 960
-104 Ol&t 15 0]8t
60,000 x & x12& 720
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% s SIE|
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
-5 014 10 Olgt
50,0002 9%« 123 5,400
-5 0|8t 30,0002 %102 128 3,600
OFMZ A 140,0002 1618+ 12& 270,480
O&ZEXHI 258,216
~H2IIR(LE)
250,000& x1H 128 3,000
~AlZHA BRI DI HI(LHS)
219,000& x4 H 128 10,512
~AlZHE R DI (CHS)
162,000& x8%H » 123 15,552
-AlZHE R D1 R (24)
135,000 x2H * 122 3,240
~AlZH BRI DI (0HS)
153,000& +67H 123 123,012
-HAAZE 175,000 x19H « 122 39,900
LR 175,000 602 x62 63,000
OsE=e 69,600
= 20,0002 60 * 128 14,400
BN 40,0002 60H 123 28,800
-HIS(HMAH) 30,0002 »20H x 122 7,200
-HI=(SMAHA) 70,0003 15"+ 122 12,600
~HIZ (AR 014}
110,000 x5 * 128 6,600
(OFSfe-Eat= 210,000& 3%+ 122 7,560
OXARE A=Y
30,0002 x5 * 122 1,800
OSAEP2g-AlZ S {2 185,352
~AlZHE R DI HI(LHS)
4,229,000 »4H 122 +8% 16,240
A2 E R DI (CHS)
3,603, 0003 «8H 12 8% 27,672
-AlZHE R D1 R (24)
3,383, 000 «2H x 122 *8% 6,49%6
~AlZHA BRI DI (0HS)
2,098,000 67 H* 122 +8% 134,944




